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Maynooth University
Computational Thinking Obstacle Course 1 “Ice cream”

Final task

If you have solutions to at least the first 10 tasks, you can complete this
extra task.

Below is a mystery six-letter word that you need to discover using your
solutions. The six letters can be found using the following clues:

e The first letter is the solution to task 6.

e The second letter is the solution to task 7.
e The third letter is the solution to task 8.

e The fourth letter is the solution to task 9.
e The fifth letter is the solution to task 10.

e The sixth letter is found by taking the third letter from the
sequence in the correct answer of task 4.

Next, convert the six letters you have written down into six numbers as
follows: convert each A into 1, each B into 2, each C into 3, and so on.

Finally, add the six numbers together. What is your answer?

Your answer:
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